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SANSKRIT
[ HONOURS |
Paper : IV
Full Marks : 100 Time : 4 Hours
The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in

their own words as far as practicable.
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Name an expound the Samasas in any three

mentioning rules : 3x3=9
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Compound any three and mention the name of

Samasas with relevant rules : 3x3=9
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10. Write short notes on any two of the
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(i)  Dissimilation — NI

(ii) Anaptyxis — FTefE 1 Rasy
(iii) Epenthesis — wif*fafzfe

(iv) Metathesis — 3oy

11. What do mean by phonetic law ? Discuss the

Grassman’s phonetic law with illustrations.
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Write a brief note on the relationship between
Sanskrit and prakrit.
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What is meant by Indo-European language
family ? Describe the divisions of Indo-European
languages.
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